R VCE & PDF https://www.geekcert.com/ncm-mci-5-15.html
' 2024 Latest geekcert NCM-MCI-5.15 PDF and VCE dumps Download
: GeekCert.com

NCM-MCI-5.15%4As

Nutanix Certified Master - Multicloud Infrastructure (NCM-MCI) 5.15

Pass Nutanix NCM-MCI-5.15 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/ncm-mci-5-15.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Nutanix
Official Exam Center

@ After Purchase

© Guarantee

@ Free Update STISFACTION GUARRHTEEp
@ Satisfied Customers

Latest NCM-MCI-5.15 Dumps | NCM-MCI-5.15 Exam Questions | NCM-MCI-5.15 Braindumps 1/4


https://www.geekcert.com/ncm-mci-5-15.html
https://www.geekcert.com/ncm-mci-5-15.html
https://www.geekcert.com/ncm-mci-5-15.html

VCE & PDF https://lwww.geekcert.com/ncm-mci-5-15.html
2024 Latest geekcert NCM-MCI-5.15 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

An administrator is deploying an application using Nutanix Volumes. After configuring the volume group and connecting
the guest\\'s iSCSI initiator to the volume group, they begin performance testing. The administrator learns that
performance on the virtual disk attached to the iISCSI initiator is far less than that of a virtual disk connected directly to
the VM.

Which situation is causing this condition?

A. The VM\\'s iSCSiI traffic is being routed to the data services IP subnet

B. The performance test is generating small block random 10.

C. The duster data services IP address is a bottleneck, shared with other iISCSI traffic

D. Data Locality ensures that VM attached disks are always faster than iSCSI volumes.

Correct Answer: C

QUESTION 2

An administrator needs to migrate workloads from a Nutanix cluster running VMware ESXi to Nutanix AHV. The
migration process needs to be completed in multiple VM groups and support roll back in case any problems are found
during user acceptance testing.

Which action should the administrator perform?

A. Use Cross Hypervisor DR to replicate VMs from ESXi to AHV

B. Use VMware Converter

C. Use Nutanix one-click cluster conversion from ESXi to AHV

D. Use storage live migration

Correct Answer: C

Explanation: Ref: https://next.nutanix.com/installation-configuration-23/convert-existing- nutanix-vmware-cluster-to-
nutanix-only-37600

QUESTION 3

An administrator needs to replace an aging SAN and move to a hyper-converged infrastructure. The existing
environment consists of the following hosts that are connected to the SAN:

5xAIX hosts 3x Hyper-V hosts 9XESXi hosts 2x physical SQL Clusters (Windows Server 2012R2 hosts)

After deploying a Nutanix AHV cluster, which two actions should the administrator take to meet the requirements?
(Choose two.)

A. Deploy Volumes to support the AIX and SQL workloads.
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B. Migrate the ESXI workloads to AHV using Move.

C. Deploy Files to support the AIX hosts.

D. Migrate the ESXi and Hyper-V workloads using Move.
Correct Answer: AD

Explanation: Ref: https://portal.nutanix.com/#page/kbs/details?targetld=kA00e000000Cr7GCAS

QUESTION 4

Refer to the exhibit.

An administrator logged into Prism Element, notices the following in the home dashboard, and showing the exhibit.
Which action should the administrator take next?

A. Configure the fqdn for the hosts indicated

B. Troubleshoot the zookeeper server issue

C. Re-run NCC specifying data_resiliency_check
D. Check the hardware page for disk failures

Correct Answer: C

QUESTION 5

An administrator configures authentication in Prism Central (PC) for the NTNX-Admins group. Users report that they are
unable to log in. The administrator confirms that the Active Directory (AD) settings in PC are correct. Which condition
could result in this behavior?

A. A role mapping needs to be associated with the AD group.

B. The users must be added to the Domain Admins AD group.

C. The Local authentication type must also be selected in PC.

D. A client chap certificate must also be added in PC.
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Correct Answer: B

Explanation: Ref: https://portal.nutanix.com/page/documents/details?targetld=Prism- Central-Guide-Prism-v5_10:mul-
security-role-permissions-pc-t.html
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